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Iiifth Semester B.E. Degree Exarnination, .luly/August 2{122

Computer Networks and Security

lirnc: i hrs.

t)

\otr: :lrtsx'er ony FII''E.ffull questiorts, t:ltoosirtg ONE.fitll rluestion /rom euch modulc.

N,l ocl u Ic- I
l:xplain thc steps involvccl in transl.erring a ri'eb llage liorn ser\/er to client in casc o1-ll'l"l'l)
u'itlt non persislenl connection. AIso bricl'the Back ol'the l:nvelope calcLrlation lirr tinrc
rrccclcd io rc(lr.lcst and rcccii,c thc 1llc. (10 llarks)
( onsicicr au c - conlnrcrcc srt.. thal rvants to kcep a purchase rccorc] lor citch of its

customcrs. [)cscribc ri,ith ncut clruerrnr lrori this can bc cionc ri'itlr cookics. (10 ]llrlis)

")

orr
lrxplain w'itlr ncat cliagnrnr. lhc socket rclatcd
llrc I ('l) along u'ith clte nt atttl sct'r'cr cot1c.

lrxplain li'l'[) ri'rt]r its C'onrnrancls uncl l{cplics.

actii,ilv ol-client - scrvcr contn-runicitlion ovcr'

lr

(10 )larl<s)
(10 )larl<s)

l)

Nlorltrle-2
[)cscribc thc varioLrs frclds ol'tJl)l) scgnrcnl strlrctLlrc. Supl-rosc you havc thc litllorving thrcc
I6-bit u,orcls0ll(X)]i001100000. 0 1 0 1 0 I 0 1 0 1 0 1 0 1 0 1, 1000111100001100.
lirnil tlrc clrccl<sun'r. Ilori, clocs the rt:ccir.'cr dr-tect crrors'l Is rt possible that 1 bit crrors ivill
g0 untletcctcrl'.) (10 )larks)
I:rplirirr Scncicr anrl I{cccivcr siclc };initc Statc \4achrnc (lrSN,'1) reprcscntation lor rdt 2.1

protoco l. (l0 llarlis)

OR
Drau,'['C]l) Scgtrcnt structtrrc. I)c-scribc thc various lrelcls ol"l'Cll) scgmcnt strLrctLlrc

(10 )larl<s)
thr' cuLrscs ancl costs o1'congcstion considcrinq thc lbllou,ing

-)

5

l:rplain u'ith nr'itt rliagranr.
scc narios.
Scenario I . 'l u'o scttder .

Sccnurio f : 'l'w'o scntlcr .

A ltoLrtcr . u,rth lntlnitc []Lrl'lcr
,\ IloLrter lvitlr l;initc IlLrll'er. (10 llarks)

I ltct'cr Irig. Q-5(a ) ] u'ith
table fbr noclc "1,".

( I 0 )larks)

I'loclu le-3
\\'rrtc i.inl< statc I{outirrg Alsonthnr Appl-v it to tlrc tirllon'rng graph

sourcc nocle as "tJ" l)ralv thc least c()st path trec and the lbrrvardine

lrig. (1,51a I

I )rau, I I'V:l clatagnrnr lirnrat. N'lcntion the signjl-icance ol'cach

I ol'2

( 1 0 \larks)



a. Writc clistancc Vcctur Routit-ts

I ltctbr F ig. Q6(a)1.

OR
Algoritltnr ancl appli, it to thc lirllou'ine graplr

ilt( s52

( l0 \l:tr i.s)

/ 3.

,..,-'{Y-.. ,

lirg (.)6(a)
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\'-:,

[)rarvlv, Il'}V(r clatagr-ant lttrtttltt. N4cnti0l] llrc sigrlif icatlcc ol'cacll llcld { ll} \l:rll.i)

N'lodu lc-.I
t..xltiain Dilllc - Ilcllntarr Kcv [-.xclranqc l)rotocol Sultposc ttvo partit:s A arlcl [] \\islr to \ct

ull a con-)nt()lt sccret kcv bctu'ecn thcnrselvcs usitig Dilf ic llcllrtran l)t'otocol scli:clittr:

gcncrator as 3 and prime nuntbcr as 7. Party A chooses 2 artcl [)artt'I] cltooscs -i it: ilrcir

respectivcr Secrct. I;ind tltc l)il'lle llcllntart Kev (10 )llrks)
lixplain Data [incrylttion Starrdarcl (DlrS) algorrthrll. (10 \l:rrLs)

r 
'$, 'l

h

fl.

b
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b

oIt
I,rxplairr tltree plrascs ol' [{SA Algorithltt. l:ot' att g11c1'1'1)tiotl

\4:9 rve choosc a: i artil h =' ll l;irtcl thc Ptrtrlic attci l)rir
nnci shur,'r, thc Ciphcr tcxt
\\ r itc slr()r'I It(]tr'\ ()11

i) SecLrrity lnrplcmcntation irt u'irclcss llrlrl: 802.1 l.
ii) I:'ircu'alls

!loclule-5
n. I:xplain hou, I)NS Redirccts a [-lscr's rcqLrcst to a C[)N Scrvcr
b I:ixplain I{'l'l' llasics and I{ I I' paclict l"lcaclcr ljclcls

oR
Irxplarn the propcrlres o1' ALrdio ancl Viclco. Also tttcntiott
lcatures o1' Streanring Storcd Viclco

Wrth neat diagranr. explain Scsstott lnrtiatron l)rotocol (Sll'11'

ttf'a J - Iltt ttlcssiigc " 100o" or

rrtc ker: lirItlrr. <crtlt'11\ ",:
(10 \lrrrl.rt

(l() llurl.s)

(10 \larlis)
(10 \l:tt'ks)

thc tlrrcc kcy' ilistrngLri'lrirtr:
(10 \l:rr.l*)

ali cstablrshllcltt (10 \lirrl.r)
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